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; seographical area of
Ihe area of Hamirpur district is what percent of total geoErap

1P 9
5 4 frad afqoa 2 7
5% %1 st frera w291 % et iviiferen SEFE 1 .
(A) 2.01% (B) 3.51% FE(‘) 4.25% (D) S2rie
Which district is not a part of *“New” Himachal ?
(A) Lahaul-Spiti (B) Kullu (C) Kangra
ﬁ?mﬁw‘m'%wwmwrf ?

(A) oela-uhfa (B) geqy|  (€) TSl (D) feemag

3. Karali lake is situated in which disiricl of HP, 2

(D) Bilaspur

(A) Shimla (B (D) Kangra
HieA] _ 29l )
(A) fomen (B (D) @I

4, ‘Uhl’ is a tributary of w
(A) Yamuna (B) €
‘I8’ fenraa wew €
(A) 91 (B)
S.  Swangla is a Schedufed Tribe 6f which district of HP. ?
(A) Chamba  (B) _:K'inn‘a;% ,C(C) 'Kangra' | (D) Lahaul-Spiti

WW %ﬁq@ ARG (D) eTAe-wfifa

6.  ‘Janckang’ is a most common and widely practiced marriage system

followed by which tribe of H.P. ?

(A) Gaddi (B) Panwalas (C) Swangla (D) Kinnauras
EcCau mmﬁmmﬁmmﬁmﬁwmmmm

(A) T B) TR (C) @i (D) faehm

7. Which Goddess was the patron deity of Kully Rajas ?
(A) Renuka (B) BalaSundri (C) Hidimba (D) Mrikula
&1 Hi gt Foo] T i qe ot oft 2
(A) T (B) TEE  (C) fefgm (D) TH
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1L, Himachal Pradesh Insttute of poga:
U Public Aduimistation s located af whic)
)

[‘!.‘I\"\‘ S10 0 B A

\ \] l J“Ii‘\\“.\; {‘l’ -Inl'i“lh‘['” ; .
ke ‘ & MRac(C) - Sundernagar (D) Kandagh

TSHM\! \hlk’l \ ﬂth \HHH-l “\H?”{ |F’.l“”q:'[ '_'.|r:!)| li [a},J] J.'J,".:‘IH [J_’q': # ?”]d l}-‘h‘"

(A\) a1 (13) '-'l”l’]'fﬂ TR () et (1)) +uergp

12, The HP Vidhan Sabha had how | '
4 TN WEROW many members in 1952 2
tRnTeet QY faer qa ) 0o 3 et er;: 9 :.s 2
AT 36 (B) 4 (C) 46 () 54
13, Bandh Wildlite Sanctuary is localed in which district ol TP
() Mandi (B) Kullu () Una (l)”'
{ ) Chamba
Areel! a=rstla ARV fEmrEe Yo & fag Fred o fod 2 7
(A) [ (B) o] () FAI (D) =

14, State Planning Board in H.P. is headed by
(A) Chiet Minister (3) Urban Development Minister

(C) Panchavati Raj Minister (D) None ol these
fomTereT wem H Uy A1 HUSH ol SHE HH B 7

(A) FeIHt (1B) e faepms o
(C) e T A (D) ¥ 8 HIE T

15.  Anees Villa is located in which town of H.P. ?
(A) Manali (B) Ghumarwi  (C) Nahan (D) Solan

syt et femreren wewn o o e e @ 7

(A) ATl (B) gwl (C) e (D) HleH
16.  Masrur rock cut temple is located in which d,istrict of H.P.?

(A) Bilaspur (B) Hamirpur  (C) Kangra

e 17 1 20t famreel aw o foke ot A fRerd & 7 | iR

(A) femg () s (© Fe (D) |
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17.

was enscted in o which year
.h g

I \
hl"""‘h‘” I'l’-llll“-h( cihing on b oand Haolding At _‘1..1'4_“,"!1;.4 LA L

!HI»!--{ b 1] [qL.m Ml Aue pifean vas a0 g

i1 L TR
"'\} |”?I (1) B if ) o l° '
1N, . it '
lht l'll-.l l ICutenant Cpoverm i ol ” | Wi i1 R1'¢ .\'1‘._“!.1
‘A M S Himmat Singhi bt Iy ancrjee
L) NLC Nund, €1y 3.0 BY
fm‘"'lf'i Uen &, eI rJT'l-"l"’ ‘1"“*' ‘ln'{ q apAn
(A) "5 vy fruga fae (1) A it
(C) uq iy . (1)) A U4 44

| 0 : lour given
Directions : (. 19 to 23) : Choose the correctly spelt word out of the jour g

"hk‘fl‘lnluca AB. Cand D

19.  (A) Aniy ersary (BB) Annivarsary (C) Anniversary (D)) Anmiwersary
20. (A) Atidevit - (B) Aftidevit (C) Afndewit (1)) Affidawvn
2l. (A Supertishial (B) supcrﬁcial (C) Supertecial (D) Superfisial
22.  (A) Cantenry (B) Centanary (C) Sentanary (D) Sentenary
23.  (A) Seize (B) Seeze (C) Ceeze (D) Ceize

Directions : (Q. 24 to 28) : Choose the most appropriate word out of the four
given alternatives A, B, C and D to fill in the blank -

24. Wehada of warm weather in March. =2
(A) period (B) phase (C) time (D) spell
25.  Itis equally important to _ one’s goal, as it Is to set one.
(A) obtain (B) realise (C) establish (D) prove
26. He was leaning the wall.
(A) on (B) towards (C) with (D) against
27. This work ought to have long ago.
(A) done (B) had done (C) beendone (D) being done
28, __he invited me, | would have gone to the party.
(A) Unless (B) Had (L) If (D) Although

Directions : (Q. 29 to 33) : Choose the word that is most nearly the opposite n
meaning to the given word out of four alternatives A.B.Cand D.

29. Conspicuous _
(A) Indifferent  (B) Harmless (C) Insignificant (D) Unknown

30. Conceal o
(A} DiSCOVE!‘ {B} ()pcn (() Reveal (D) L ntold

S Code No. : (€ 6142020 series-!



Directions : (Q. 34 to 38) : Choose the one which can be substityte
given words/sentence out of four alternatives A, B, C and D.

Pertinent . ;
(A) lIrrelevant  (B) Determined (C) Detached (D) Indif‘ferenl

Evacuate

(A) Ivade  (B) Abandon (C) Emerge (D) Agmiy
Acquisitive
(A) Miserly (B) Frugal (C) Simple (D) Austere

d f()r [he

34. One who pretends illness to escape duty

(A) Truant (B) Malingerer (C) Hypocrit _
35. A man who starves body for the good Ofsomyp cie @) Concubine

(A) Monk (B) Spiritualist C) Saint (D) Ascetic
36. One who loves mankmd

(A) Anthropologist (B Philanthropist

(C) Selsmologls Optometrist
37. The original inha

(A) Aborigines Natives (D) Primitive
38. A person concerne s and values

(A) Plagiarist Realist

(C) Pragmatist ) Fundamentaltst
few (9. 390 43) :

ﬁ Letsdoﬁ together 3 ®) qﬁrz

40. (A) T9EI (B) w1 (C) wom (D) wmuw
41. (A) A&m (B) &&= (C) e (D) w&qun
2. (A) FrEM (B) IEE () IER (D) IR
43. (A) Tutas (B) HHTSHiH (C) gmifss (D) "M
W (9. 441 48) : e s gfae |
44. Authorise

(A) FfuFas (B) sfumfad  (¢) sfusram (D) sfusis
45. Abstract

(A) e (B) IWam  (C) W@ (D) F

Code No. : C-614/2020/Series-D e



46. Requisition

(A) S5t (B) MUW(C] Y& (D) ¥ iy,
47. Addendum

(A) ShFEn (B) s (©) dnT (D) Srew
48. Veto

(A) Fewmn (B) Faifusn (o) =mfEET (D) AR
3w (9. 49 9 53) : qafaarh w= T .

o

49. IeF

(A) TR (B) & (C) #@ (D) ®&m
50. FH=RR

(A) 3T (B) & (C) worfd (D) 9red
51. a9

(A) oo (B) ferd (C) = (D) I
52. W

(A) 3 (B) Ui () ffEs (D) dfaa
53. T

(A) I (B) =4 (C) 9= (D) 74
54, ‘HEREA §THE 2

" (A) TR (B) sz (C) A& (D) e

55, Hyy ) WEETEH §1 8

(A) mgfen (B) Al (C) wywal (D) W
56. gum % e

(A) gom (B) g (C) gures (D) gt
57.  Titop @ fagiiads 2

(A) 9= (B) M (C) == (D) €
58. ‘34 ST GEELH 3Y 8

(A) Tz H T RAT T (B) Fe-um & ZE

(C) @ s (D) faem i v

"~ Code No. ;: C-614/2020/Se



59. Most accepted period ©
(A) 2500 1700 B.C.
(C) 1800 - 1050 B.C.

f Indus Valley Civilization is

(B) 2000-1250B.C.
(D) None of these

f@qmﬁwmmﬁ%ﬁ%m%—

(A) 2500 - 1700 B.C.
(C) 1800 — 1050 B.C.

(B) 2000-1250B.C.
(D) 38 H¥ TH

60. During the later Vedic period which became the Supreme G
e God ?

(A) Agni (B) Varuna o
3o Afeeh et & GRH S el o Egi)? Prajapati (D) Pushan
(ay S ) S5 (C) W (D) pm

61. The capital of Gandhara Mahajanpada was at

(A) Varanasi (B) Vaishali
YR FETSIE <l THUHT off —

(A) R (B) Sl

62. Mahavira delivered his first Sermon at

(A) Sarnath (B) Pavapuri
HRTE + 3791 w¥H 39eH fe

(A) TRATY (B) drETqd

63. Which Mauryan emperor was called by Gre

(A) Chandragupta Maurya
(C) Ashoka

(C) Mathura (D) Taxila

(C) "yu (D) q&fe

(C) Pataliputra (D) Vallabhi

() Tefgs (D) Tt

eks as ‘Amitro Ghates’ ?

(B) Bindusar
(D) Dasharatha

fey T} v 1 TR gra ‘e dem’ e T A ¢

(A) SZ@dd  (B) fagER

64. Fahien visited
(A) Harshvardhan

(C) Chandragupta I

(C) (D) &IR¥

[ndia during the reign of which ruler ?

(B) Samudragupta
(D) Dhruvasena Il

%am%mﬁmwwmm !
(D) gaeA-1I

(A) THEEA (B) FERIA

in construction of canals ?

65. Which Delhi sultan took keen interest
(B) Alauddin Khilji

(A) Tltutmish

(D) Sikandar Lodhi

(C) Ghiyusuddin Tughlaq
HmgaEE I ?

o feeeft e X T o fmior -
(A) Feqathm (B) Fem3eeH faersil
(C) firmged g (D) ot =

Code No. : C-614/2020/Series-D
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66.

67.

68.

69.

* 70.

71.

Battle of Haldighati fought i i

¢ ght in which year ?
geatarel &l 4g for ad 4 o181 T 7
(A) 1570 (B) 1572 (C) 1574 (D) 1576
The actual name of Nur Jahan was
(A) Mumtaz Begum (B) Razia Sultan
(C) .(}ulbadan Begum (D) Mehrunissa
TR Bl AT eI AT ol

(D) HEEMHT

(A) FEE AT (B) TR (C) T A

Who assumed the title of Padshah in 1797 ?

(A) Balban (B) Babur

(C) Tipu Sultan (D) Sher Shah Suri

1797 & TTeITE 1 39Ty fRE U ?

(A) TTad (B) e ) fggead (D) iamE Hi

Who introduced Permanent Settlement in Bengal, Bihar and Orissa ?

(A) Lord Cornwallis (B) Lord Amherst
(D) Lord Rippon

(C) Lord Canning
W,ﬁ?ﬂaﬂ?ﬁmﬁ%ﬂﬁméﬁmmﬁm? ok
(A) WIS Hiarer (B) wITE THER -
(C) @re Hfm (D) @i frd

Who started the Atmiya Sabha ?
(A) Raja Rammohan Roy

(C) Raja Radhakant Dev
syt fere ST <l 7

(A) T THATEA T

(C) T T o

(B) Swami Vivekanand
(D) M.G. Ranade

(B) @i fadsmg
(D) TH. TATE
Who announced the Communal Award in 19327

(A) Clement Attlee (B) Ramsay McDonald

(C) Lord Irwin (D) Lord Minto

1932 & HTETEH T fer wfya forn 7

(A) Tt ueet (B) i‘q}ﬂa@?ﬁ (C) W gfam (D) e =l

4 Code No. : C-614/2020/Series-D



12,

i3

74,

76.

77,

78.

79

Who presided over the Belgaum session of Indian National Congress in
1924 7

(A) W.C. Banerjee (B) CR Das () §.C.Bose (D) M.K. Gandhj
1024 ® wirdia e SEE & T Hfudd £1 AAE faga® v

(A) T, &fl(B) #oamoam () mm i @A (D) THE MR

Non-Cooperation Movement was launched in which year ?
WHEE Widled fm ad o fesan man 7
(A) 1920 (B) 1930 (C) 1942 (D) 1946

Bismillah Khan was associated with which musical instrument ?

(A) Veena (B) Violin (C) Sarod (D) Shehnai
fafeyees @H fog wfla s g gawfaa 2 7 ,

(A) drom (B) amfem (C) ®e (D) WEATE
‘Mando’ is a folk dance of which Indian state ?

(A) Goa (B) Manipur

(C) Assam (D) Arunachal Pradesh

‘quer fere WIS T 1 A1 JA & 7 .
(A) T (B) =fogt (C) @ (D) FEUTEA &

Elephanta Caves are situated in which Indian state ?

(A) Bihar (B) Odisha (C) Maharashtra (D) Gujarat
afeteezn o fop W T A e @ 7

(A) faem (B) sffewm (C) WewTsg (D) T

The Blood and Iron Policy was related to
(A) Adolf Hitler (B) Benjamin Franklin

(C) King James I (D) Bismarck
Az v T 1 Aifa fheE T R 2

(A) TETES fEeert (B) SR Shepfe™
(C) fam A=-11 (D) foemsh

The Gulf War took place in which year ?

e, 4 e a4 4 7 7 -

(A) 1971 (B) 1981 (C) 1991 (D) 2001
Which is the nearest planet to Earth ?

(A) Venus (B) Mercury (C) Mars (D) Jupiter
gl &1 faean IR A | R 7 ’
(A) I (B) &y (C) ™ (D) gewfd

Code No. : C-614/2020/Series-D 10



80.

81.

82.

83.

84.

85.

86.

Autumnal Equi s ich day ?
quinox is on which day * 3 geptember

(A) 21™March (

(C) 21" June (D) g December

G, faga fovm fo de 2 7

@ 2w @) nfmm (€ 21T (D) 22 femeay

The mantle layer of Earth is also knownas (D) N

(A) Sial (B) Sima (C) Nife one of theg,

geeft o foet v 1 ged oft ST 1R - .

(A) fazmm (B) fn () i (D) ¥ 8
; 9

Cotopaxi volcanic mountain is located in which country -(D) Heiion

(A) Ecuador  (B) Chile (C) Argentind
e SegEt Tda forE 3 A fm 2 7
(A) TFETSR (B) faeft () FARA (D) HfFH!

Granite is a/an
(A) Igneous rock
(C) Sedimentary rock

ITe B |
(A) FEETA (B) wmdtd %gH (C) s 9gA (D) ¥ 4 HE T

Insolation is measured with the help of which instrument ?
(A) Pyranometer (B) Thermometer(C) Hygrometer (D) Hydrometer

ST 1 2R T 6 WETA @ I A 8 2
(A) mersfi (B) gAEit (C) gt (D) ERgHI

Which rainfall occurs due to ascent of air forced by mountain barrier ?

(A) Convectional rainfall (B) Frontal rainfall

(C) Cyclonic rainfall (D) Orographic rainfall
e 3T g AT W o SRV & I B H quigiee &l 8 7

. %:@
(B) Metamorphic rock En
(D) None of these

Savanna is a/an

(A) Tropical grassland (B) Temperate grassland

(C) Alpine pasture (D) None of these

(A) HTH &1 (B) sfereor grg =57

(C) 3¥eaTgd TR (D) Eﬁﬁaﬁéqﬁfm
R A - e ey B e T e R i = "l"l" T i

Code No. : C-614/2020/Series-D



87.

88,

89.

90.

91.

92.

93.

94.

Great salt lake is located i

(A) US.A. (B) laly (C) Spain (D) Portugal
e TTez A (et o 911) feae & S
(A) 4.uq.u, B) Tl (C) & (D) AT
Which of the following is a cold ocean current ?

(A) Brazilian current (B) Alaska current

(C) Humboldt current (D) North Atlantic drift

frig § 2 i ot gud) EETHIE 9T R 7

(A) wTsfiferaa ard (B) Hetrat umi

(C) EF&lee U (D) IT wAeArfves anl

Which boundary line is also called ‘zero line’ ?

(A) Radcliffe line (B) Maginot line
(D) Durand line

(C) Hindenburg liné
1 o e v g v S FEEA & 7 -
(A) tefem i (B) AFRTE (C) fewmiEn (D) s

leading producer of gold in the world ?

Which country is the

(A) China (B) Australia  (C) South Africa (D) Russia
21 e i ] o1 SV IENEH & 7

(A) ©H (B) FEfam  (C) faqu 3Rt (D) &9

The old name of Sri Lanka was
(A) Angora (B) Malaya (C) Ceylon (D) Persia

sfieieht &1 qUAT ATH 4T —
(A) 3T (B) wel () e (D) qf&a

Which river cuts the Equator twice ?

(A) Nile (B) Amazon (C) Congo (D) Brahmaputra
F P AT R G AR FEAE T

(A) fi (B) 3 (C) (D) SETA
Which is a west flowing river ?

(A) Luni (B) Krish ) € i D) Mah '
& aﬁaﬂtagiq;,%:%—g? (C) Cauveri (D) Mahanadi
(A) (B) Fwm (C) Hrd (D) HEHd
Srinagar is located along which river ?

(A) Chenab  (B) Ravi :
ﬁ’l’ﬂ@;ﬂﬁ%ﬂzm)ﬁ&mﬁglp (C) Satluj (D) Jhelum
" .

(A) (B) Tt (C) W N _._(D) S

Code No. : C-614/2020/Series-D i



95. Matatilla project is built on which river ?
(D) Bhima

(A) Betwa (B) Rihand ;
" (C) Manjra
WA e i b 7t Ffid 2 7 :
(A) S (B) f&= (C) W (D) =
96. V‘V{\hich of the following is a non-metallic mineral ?
(A) Lead (B) Tin (C) Sulph (D) Copper
' Sulphur
frdasha sufasaf=t ? 5
(A) & (B) fe& (C) |H (D) R
dian state ?

97. Narora nuclear power station is located in which In
htra (D) None of these

(A) Tamil Nadu (B) Rajasthan (C) Maharas
FORT AR wifed wam frg R g A fem 2 7 -
(A) dfrerg (B) TR (C) HEWTS (D) ¥ 8 %K 7

In which year UNESCO has added ‘Nilgiri Mountain Railways’ in its

98.
world heritage list ? .
forg ad en 3 rerfir w73 Yo’ @i o frva froEa A H AR 2
(A) 1999 (B) 2004 (C) 2005 (D) 2008
99. The Indian Constitution has taken the procedure of Constitutional
Amendment from which country ?
(A) Ireland (B) U.S.A. (C) South Africa (D) Britain
T T ¥ G Geie 6 ahE g g A S 2 7 -
58]
(C) zfem afi (D) foea &

(A) ARAAVE  (B) Z.WH.U

100. Which Schedule of Indian Constitution deals with ‘Languages’ ?
(A) 1% Schedule (B) 3" Schedule (C) 6" Schedule (D) 8" Schedule

e wiaum S S # SgE e | g=fd 2 7
(A) e st (B) drEdt gl (C) 3 HggEt (D) 3l g

Telangana state came into existence in which year ?

101.
St U= foea 9 fcaea o 3 ?
(A) 2012 (B) 2014 (C) 2016

102. Right to Property is a
(A) Constitutional right (B) Legal right
(C) Political right (D) None of these

(D) 2018

gfa &1 HIUFE 2 TF —
(A) "= AlTHT (B) =t sfuem
(C) TsAfaes sifasr (D) 378 7 1$ 7

13 Code No. : C-614/2020/Series-D



103. Which Article of Indian Constitution termed by Dr. B.R. Ambedkar as the

104.

105.

106.

107.

108.

109.

‘Heart and Soul of the Constitution’ ?

(A) Article 19 (B) Article 21 (C) Article32 (D) Article 51-A
T G o e STE0T % 3, T, e g AT R
e’ % w9 8 qfoenfyd R mn g

(A) 3=ae 19 (B) FT=Wg21 () sm=se32 (D) ATIE S1-A

Which of the following is non-justiciable ?
(A) Right to Equality

(B) Right to Freedom

(C) Both (A)and (B)

(D) Directive Principles of State Policy

e 8§ | ol g1 R-aggma 2 ¢

(A) T F1 ATER (B) A & AGHL
(C) (A) 3 (B)aHi (D) T4 % Hifa frdzes AT
Who is the Vice-President of India ?

(A) Ramnath Kovind (B) M.H. Ansari

(C) Venkaiah Naidu (D) Pranab Mukherjee

1d & 34- FHB 7
(A) THATY HIfa= (B) TH.TE. 3 (C) Fhmamg (D) uCRCEl

Total number of seats in Madhya Pradesh legislative assembly is
e e faum T H el Hil 6l HE 8 -

(A) 212 (B) 224 (C) 230 (D) 240
Who is the constitutional head of a particular Indian state ?

(A) Governor

(B) Chief Minister

(C) Chief Justice of High Court

(D) Speaker of State Legislative Assembly

fapeft s T s o AT @ M A R 7
(A) =991 (B) HEawAl
(C) 7= e F gE A (D) T faum s e

The term of office of Comptroller and Auditor General of India is
(A) 3years  (B) 4 years C) S years (D) None of these

YA o (149 U9 HRTAE]-qiie7ah &1 -
(A) 34 (B) 4@ (C) 5a (D) T & I8 7@

The highest law officer in India is

(A) Solicitor General B) Ad

\ . vocat:

(C) Attorney General %D; Nong%lf?h(gseg erel
A &1 HdT= fafey w2 -

(A) AT T (B)  wreeiare 7906 (C) 3 SR (D) 399 | i3 TEI

' Code No. : C-614/2020/Series-py 14 B



110. NOTA is related to which of the following ?
(A‘*) Disaster Management (B) Food Security
(C) Poverty Alleviation (D) Elections
AT (NOTA) e # & fored mmafua 2 7

(A) AV YE4= (B) @ gEn  (C) e (D)
111. e-governance means
Eg)) easy governance (B) elicit gov;mznce
electronic governance (D) None© .
$-Tad w1 3 2 ! Ecas
(A) 30t T (B) sferHIEe
(C) seA%Ziieh: T4 (D) ?ﬁaﬁéqﬁ
112. Finance commission is a 3
body et

(B) Statutory

(A) Constitutional body
(D) None of these

(C) Nqn—constitutional body
ﬁﬁmﬂ%% 0o
(A) e P (B) A frera () - () e

113. Right to Information Act enacted in which year 7
o1 1 A Afuty fea o | feyfafea g 7
(A) 2002 (B) 2005 (C) 2008 (D) 2010

114. Real estate falls under which sector of Indian economy [
(B) Secondary sector

(A) Primary sector

(C) Tertiary sector (D) None of these
&—WWEW%W%%WW%? _

(A) T & (B) Tafewmd  (C) TN (D) THABRT

115. Pradhan Mantri Jan Dhan Yojana was launched in which year ?

gum‘aﬁa:{mmw%aaéﬁmwﬁnéaﬂ ?
(A) 2014 (B) 2015 (C) 2016 (D) 2017

116. The brainchild of Green Revolution in India was
(A) M.S. Swaminathan (B) Norman Borlaug
(C) Dr. William Gaud (D) None of these

mﬁmﬁwmﬁmeﬁ?
(A) TH.UTH. A (B) A SR
(C) . faferm e (D) H A &E T

117. Which of the following is not listed as Maharatna Company ?

ﬁmﬁﬁﬁaﬂwm%wﬁzﬂ%ﬂqﬁmw% ?
(B GAL () SAL (D) NALCO

TP IEEE - 3 iia ‘1'5 o B
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118.

119.

120.

121.

122.

123.

Balance of trade means the difference between
(A) anation's iImports of goods and it exports
(B) GNP and GDP

(C) NNP and GDP

(D) anc of these )
ST Heeid & 14 1 6 W 35 g

(A) U Ty ) aed 6 AT 3 fatg () s _
i r H r@miﬂ’me 2
(C) ¥ U 31 3N HHel Hie] Jeqre (D) m'”'f.i;_ e T 7

CRISIL 1s a/an

(A) insurance company (B) fertilizer company
(L) dmoamns oS openy (D) credit rating agency
fafrs (CRISIL) B 0 g agency
(A) Eﬁmm -

(C) wite 9 §8Td FHeAt (D) #fge dam

securities is called
(A) Bank rate

(C) Reverse Repo rate .
RBI f3m @ w yemifa ‘ : ; .
FEAT 8 — ;i
(A) S (B) () fedt@a (D) T @ T

The rate at which RBI lends short term wgtc-. banks against
0]

16 is related with the reforms in which sector ?
ducation (C) Banking (D) Health

(C) afam (D) @A

Which is'a direct tax ?
(A) Gift tax
(C) Electricity Duty

FRAMTAG TR 7
(A) TR # (B) A& (C) faga e (D) W T

The headquarters of International Monetary Fund is at which place ?
(A) Paris (B) New York

(C) London (D) Washington D.C.
AT qz1 i o ey fave v T e R 7

(A) ufrg (B) =g (C) ®e (D) anfymres €1 4.

(B) Entertainment tax
(D) Custom Duty

Code No. : C-614/2020/Series-D 16



124.

125.

126.

127.

128.

129.

-130.

131.

—

First country 1o 4

ppoint Lokpal was i
A p
(d) USA. _(B) Venezuela (C) Sweden () India
(E:Aila;ma e & arem syogm 2o e — WA
) LT, (B) aH[ue (C) wbreA (B
The unit of power is 3
(A) joule : N (D) kg
(B ’ i
m‘ﬁ-ﬁaﬁt %_ ) erg (C) watt
(A) = B) 0l (C) Tt (D) kg/m’

Polar satellite revolves around the Earth at a height of apprommately

YeTd 39T oM 38 Sars W
gt & AR S gEal 7 -
(A) 800 km (B) 16000 km  (C) 26000 km (D) 36000 km

Hydraulic lift works on which of the following ?

(A) Archimede’s principle (B) Pascal’s 1aW
(C)_Newton’s laws of motion (D) None of thes€

FTSiforas ferve Fet i form e el e 2 7 o
(A) TFRHTE & ﬁ:{@a (B) iRl ol ept

(C) =T 1 i &1 Forem (D) 3 | IS T8

Which is the quickest way of transmission of heat ?

(A) Conduction (B) Convection (C) Radiation
I HT FOHT o G0 1 T il i 2 7 .
(A) ST (B) wa&d () fafEm (D) T AHETE

Which is used as a shaving mirror ?

(A) Convex mirror (B) Concave mirror

(C) Plane mirror (D) None of these

Sife T o w9 3 fepwen yam o SR ?

(A) I (B) FEd@ @ (C) gmaE g (D) FH AR

The light reaches earth from sun in about
(A) 6 minutes  (B) 7 minutes (C) 8 minutes (D) None of these

@ﬁmqﬁﬁqﬁw%m ‘
A) 6fmed  (B) 7fed  (C) 8TRHE (D) THABETE

In which defect of eye, the person cannot see the distinct object clearly ?
(A) Myopia (B) Hypermetropia

(C) Astigmatism (D) Presbyopia
h%maﬂﬁwﬁwqﬁa@mﬁwwﬁqﬁa@m% )

(A) wrifEn  (B) FRwEEn () wRemfem (D) dwamien

e ———

g Code No. ; C-614/2020/Series-
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132. Fuse wire is an alloy of

(A) Copper, tin and lead (B) C
(C) Copper & zinc (D; Ngﬂze;f‘%hzlsinganese
Ry AT 3] AT B = ,

(a) i, 21 S (B) Fi sl A

(C) aiqT 3R e (D) TR AR

Which radioisotope is used in brain imaging ?
(A) Sodium-24 (B) Carbon-14 (C) Cobalt-60 ,

¢ ; - D .
nficeyess Ao B {8 HSAISATEHIY o it e & 7 ) focanesls
(A) @ifean-24  (B) FEH-14 () FEER-60 (D) AEEH-123

133,

134. Baking soda is
(A) Sodium carbonate
(C) Sodium bicarbonate

(B) Sodium chloride
(D) Calcium chloride

afer HrET 2 -

(A) Hifezm FTEHE (B) Hifeam FirEs

(C) Hifm AT (D) Hfcuan TS
135. LPG is a mixture of

(A) Methane and Ethane (B) Propane and Butane

(C) Alcohol and Ethane (D) None of these

LPG zeT foom & -

(A) Hem 33 (B) ¥ 3 &

(C) TwehlETel HiH 399 (D) T & HIE TE

136. Minamata disease 13 caused by the water pollution due to which metal ?
(A) Mercury (B) Cadmium (C) Chromium (D) Arsenic

ﬁsamgﬁwﬁﬁmyqqm%wﬁ:maﬁnam% ?

(A) HHll B) ¥ (C) iy (D) FTHMAS

137. Glass is a supercooled
(A) Solid (B) Liquid (C) Gas (D) None of these
i 8 U fasfa
(A) (B) 7@ (C) ™ (D) ¥ A HE TE

138. Beri—be?ri is.caused by the deficiency of which vitamin ?
(A) Vitamin B (B) VitaminD (C) VitaminE (D) Vitamin K

fepm Farerfie <) el S-S 21T 8 ?
(A) fefimB  (B) frafD  (C) fefimE (D) faaf K

Code No. : C-614/2020/Series-D 18



der, which

. If th :
139 lettef iiflgl:: rl:!i?}lt{]o‘fthhe English alphabet is written in reverse :é 0
oft e !-' lh " R M e .
lght of the ezght letter from the lD No{le {)fthe5§

(2) X (B)
A Fofaye Q (C) W (D) ¢
(A) X (B) Q (C) W (D) ﬁﬁﬁ &T3 T8
140. How many pairs of letters are there in the word ‘CARRO

many letters between them in the word as in the alphabet ?
(D) Four

1 which have as

R o R N A L
?
(A) Th (B) A (C) () =
141. Which is different from th =
bl
— Dy INR

(A) DHG (B) (C) BFE

142. As ‘Guru Dwara’ is r
related to which of the

e way, ‘Fire temple’ 1s

A) Hind (D) Jain_
1(%11:)1'9%3 s o Soqe fe 8 8 ey
qafad 8 ? 5@
(A) feg. (B) D) ¥

noted by ‘CERVINGINTIEW’, then

‘ENCLOSURESE’ in-the same cade:is depoted by ¥4
(A) LOUSENCSVR =& &l £2, C(B8). LOUSEENCSVR

(C) LOUSEENCSURet's do.it these
fepeft e | ‘INTERVIEWING’qﬁI ‘Eﬁfﬁﬁ%ﬁw F gfua feen e,

ﬁw@ﬁ‘ENCLOSURESE’ﬁQﬁH%mm%-
(A) LOUSENCSVR (B) LOUSEENCSVR

(C) LOUSEENCSUR (D) | ®E &

144. In a certain code, ‘Jen Topi’ means ‘Good morning’, ‘su sang’ means ‘Very
well’ and ‘sang jen nus’ means ‘very and good’ then which of the

following word 1s used for ‘and’ ?

(A) Topi (B) Nus

(C) Sang . (D) Data inadequate

fepeft fafead &e o ‘Jen Topi’ I 34 ‘Good morning’, ‘su sang’ <hl 7Y ‘very
well’ 3 ‘sang jen T ‘very and good’ IRCR R C LR S
and’ % fofu g B3 2 7

(A) Topi (B) Nus (C) Sang (D) BTe1 9
B 19 Code No. : C-614/2020/Series-D
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145.

146.

147.

148.

149.

150.

If student is called saint, saint is o ; g b -
W ’ alled thief, thief 1s called politic
politician 1S called duffer, duffer is called head, then tell who does the IJ?H

of robbery during day and night ?
(A) Sant (B) Thief (C) Head (D) Politician

a&wﬁﬁ@w%m%gaﬁﬁmmg,wﬁ%mﬁ =
T 1 YR , rEETs @l Iq@ a1 J1dl &, a1 Fd1E0
3 71 % S0 Sl 1 HH Har R 7 e T
(A) &d (B) =R (C) Y@ (D) TSI

In the following number series how many 7’s are there which are precedeq
by 6 but not followed by 5 ?

3457892167543157684251764376

(A) I ~(B) 2 (C) 3 (D) None of these
ﬁﬂmq@mﬁﬁéﬁrﬁ?%ﬁﬁq@ﬁﬁ%ﬁmtﬁésaﬁ% ?
3457892167543157684251764376 _

(A) 1 (B) 2 () 3 (D) ¥ 8 FE T
In the following numbers are arranged in descending order then which will
be middle digit of the middle term ?
589, 817, 698, 795, 579, 769, 691

(A) 7 (B) 8 (C) 9 (D) None ofthese
a&ﬁmﬂmaﬁaﬁmﬁﬁmﬁmf@mm%ﬁmwwmwmm?
589, 817, 698, 795, 579, 769, 691 |

(A) 7 (B) 8 (€) 9 (D) ¥ 4 %I TE

A is brother of B. C is the sister of B. How is B related to A ?
(B) Brother

(A) Cousin

(C) Brother-in-Law (D) Data inadequate

ANERB®H |CFE2 Bl | Bfpg yeR g ud R A9 7

(A) HH (B) W3 (C) Hre (D) T2 AT

Four persons P, Q, R and S are playing cards. Q and R are partners. S is
facing towards South. Next to the right of S is Q. Where is P facing ?
(A) North 3;1;) South (C) West (D) East

wn =1f# P, Q, R SAm@e B | Q 3N R uR E | S afem & FHE # |
S % g 3Ten Q 2 | P Formes qH@ A 7
(A) I (B) gf&m (C) ufv=m (D) @

gﬁigzdboys arelsgiltl:[inlg in a line. Mahendra is on 17" place from left and
_ ra is on place on right. There are 8 boys i t . How
many boys are there in the ]ineg'? et teepoen facot

TChARAR AR | g aTd A 179 FH W 2 3 gz el 7 18 WA T
?maﬁ%ﬁaﬁﬁﬁlwﬁwmﬁmﬁww &

Code I}Io; C-6]4!2020/Serles-n S



151.

152.

153.

154.

155.

156.

157.

giiai ;Sntg:lae;‘ tthﬁn Mahesh but not than Suresh, Suresh 1S shorter than Khan
a : ;

o Kq—gﬂha” a?BS)UbgTSr}a\gaho ’ t(hé)talllfsr: ; (D) Mahesh

m’ q el ‘% g . sha R S g

ﬁ%lmﬁmﬁq%?@ﬂﬁ?ﬁlw,@ﬂ@m_ EREIE

(A) @™ ' 0y T

(B) gwmw (C)
40 m. Then he turned

Samir started to w ;
. alk fi d :
to his left and walke drg{)nli 1;nt£1ie§%ﬂ:ﬂ}:ja§td ga{ﬁ "t is the least distance

t 2
(A) 35 m, South-East direction i Q(g?md,l; m, South-East

(C) 50 m, South-West (D hese

: ) None of th€ .
T 8 et < o

m T g | P Q deh &AdH

frafemd Qg ? Q Q
(A) 35 m, 2ftr-gg (B) 45 m, efem-Td
(C) 50 m, glevr-ufyam (D) 3 & HIE T8
If “+* means ‘+’, ‘-’ means ‘x’; ‘x’ means ‘- and ‘+’ mean> ‘+",,then
afe o 1 9 L, o 0 T o S e A BT
16+8—4+2x4=?
(A) 28 (B) 30 (C) 32 (D) 36
Which all three items are not under GST as of February 2020 ?
(A) Fuel, dairy products, tobacco ~ (B) Fuel, tobacco, alcohol
(C) Fuel, movie tickets, alcohol (D) Fuel, construction, alcohol
F1 H weft o e et 2020 F GST H afA TR 7 s
(A) 3, 30 3eTg, TR (B) %, TTE, WA G

(C) 3ud, fthen feehe, Towhiaiel (D) e, fmior, TeehiEle

What is the highest income tax rate slab in India after Budget 2020-21 ?
77 2020-21 % §1E NI § IeAGH HTH G wAd fohe 1 2 7

(A) 25% (B) 30% (C) 35% (D) 40%

Which country is set to host the men’s edition of the Junior Hockey World
Cup 2021 ? _

A) India gB) Argentina  (C) France (D) Brazil
%ﬁ%ﬂﬁ@ﬁmaﬁﬁﬁﬁm 2021 % T&Y G 1 doer & fer fafva
frm 2 ?

(A) T (B) M (C) W (D) S

Which storm hit the United Kingdom in February 2020 ?
(A) Habine (B) Dennis (c% Kyar (D) Ciara
H F1 qHH St 2020 ¥ FAT5EE fohen & e 2

hw @)W ©O® (D) fom

21 ~ Code No. : C-614/2020/SeriesD



1S8. Joshna (Chinapp4 and Saurav Ghosa| are associated with which spornts

(A) Badminton (B) Squash (Cy Tenms (1)) Table Tennn
1o faamn #Y dya 91T 150 geq g gquafaaa ? 7
(A) dgfavza  (B) AT () fan () 2&A iR

159. As of 2020, which is the only Bollywood movie to win 13 Filmfare Awards ”

(A) URI : The Surgical Strike (B) Anicle 15
(C) Saand Ki Aankh ) (D) Gully Boy _
2000 4% F 1 A TS fomm fma 13 freman yard At
(A) Th zafd# P (B) wEA 1S

(C) =Mz # A3 (D) e 4%

160. What was the theme of Telangana’s biotechnology and life sciences forum

‘Bio Asia 2020"”
(A) Life Sciences for All (B) Today for Tomorrow

(C) Instrumental Life Sciences (D) Better Bio-tech
ST ATATaTAT A A0 ATSE JI3 A HH ata ofr 2020 #1 4m @ d
(A) ATEE AGHAFH A (B) 72 &fr Zam
(C) $AZHIZA ATEE HIEHE (1)) a7 atq-7%

161. ‘Kambala' which was in news recently, is a traditional spon of which state *

»

(A) Karnataka (B) Andhra Pradesh

(C) Kerala (D) Tamil Nadu

g 71 7 A ° gErEm 8 a1, fER o w e a2

(A) FARE (B) smuEn (C) #1A () afgarg

162. Which country has recently developed a recovery-plasma to treat COVID-19
infected patients ?
1(;;)‘ Japan (B) China (C) US.A. (D) lhaly
N3 FA AT COVID-19 FFiaa 7 % T=w # fAv aafi-m=ran
fawfaa fFm 2 7 |
(A) AT77 (B) =M (C) 3780 (D) 324

163. Rishi Sunak . : s o o 3
o cQu:nmre?centl_\ became the first Indian-origin Finance Minister of

(A) USA. :
R e < (C) New Zealand(D) Japan
f\n;irrqﬁ 15 5 7w v g fam wh A

Code No. : C-61472029 Series-)
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164.

165.

166.

167.

168.

169.

170.

As of 2020, which Indian Telecom operator is the second most valuable

mobile operator in Asia ?

(A) Jio (B) Bharti Airtel (C) V BSNL
dafone (D) .

2020 T B 3fvgem T o o ) e JeAdT HIETEE

o d 7 afvrn § gEw \

() PR (B) wdiww (C) dewm (D) BSNE

‘pehle safety’ is an internet safety campaign of which major technological

company ?

(A)_ Apple (B) Facebook (C) Microsoft (D) Google

‘gl AR mg@aﬁﬁmﬂwmﬁ@y&mﬁé 7

(A) THA (B) HagH () wFmw (D) T

hood day on March 307

Which Indian state celebrated its state
) Rajasthan

(A) Gujarat (B) Karnataka (C) Maharashtra (D

aﬁamswﬂawmméﬁmmﬁf&aam%?
B) #ew  (C) W ﬁﬂmﬂ
b\ ¥

(A) TSI
Which state has set up inter-departmental comumitt “Team 117 to
fight the coronavirus spread ? @ _
%A'_é Odisha (B) Mabharashtra (D) f_"xujarat

7= 3 g @1 | HRET aEE “F-11" ATHH =<~
foprefry wfufa 1 LA H R 7
(A) g (B) ) I A (D) TSUd

A was a founding member of

Beni Prasad Verma, eC passed away,

which political pag E5E
5

(B) Rashtriya Lok Dal

(A) Bahujan Sag % ATt riya |
C) RashitripaglanataiDal (D) Samajwadi Party

e, e, eI ﬁﬁﬁmgm,mmﬁ%ﬁm%mwma ?
(A) FETH T ‘ (B) U I T
(C) TSF AT g (D) | ardf
Haryana is located in which direction of H.P. ?
(A) North (B) South %C) West (D) East

?

Eframon femraer wawr o fopw foon # feard
4) =m (B) gt (C) fe=m (D) o

Dhauladhar is located in which part of Himalayas ?

) Outer Himalayan ran B) Trans Hi
) Lesser Himalgyan rang t=:e _ g D; Greater ﬂ?fﬁgf%naﬂa&%e e
o ot foet 5 R 8 7 y
o e femrery qefasof (B) "R f&wTers wdasof
=Y femrery wesioft (D) §&d feumery vdasofi
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